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1 ' Numbers and Numeration

Use Cordova Smart Class Software on the smart board in class to learn abolit numbers and numeration.

Numbers are all around us.

AT R TR R TG T PN R R AR TR T T,

- ‘&‘ : X 2o ‘.hi‘ Y A il 2 E
Sachin Ramesh Tendulkar Mount Everest River Ganga
Birth year - 1973 Height- 8848 m Length- 2525 km *
We have already learnt numbers up to 9999 in Class Il1. Let us recall. :
C Do you remember
1. Writeinwords: :
|
) BBAT 2= sovsrsmsimssisssmmssssmsnsiseosssssapsinsast e e e RNt i o |
(b) 5308 = ... B S A s s R A e v e A i iy b By |
(€) 8074 = i R T RS LY T Y EE AP YA A ATt A SN
(d) 7777 = ovsees . SR B e WD S |
2. Write in numeral form : |
(a) Four thousand three hundred twenty e
(b) Seven thousand four hundred eighty-nine R R R
(¢) One thousand nine hundred nine e carasadanaasheasaasieas
(d) Eight thousand seven hundred sixty-live sesnssasnssus iihiney ipmras ninne
MATHEMATICS |
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3. Write in expanded form:

(8) BBRF  roecanivnsimemser oot e it e R—

(b} 317955 w it W R SR ST

‘d) 4180 ................ seasesertssvemsrenTeasasEaaniaRERanLOaen LG LR R LR L R A R A Ly L T TP, LYYTTON
4. Write in short form ;

() 3000 + 400 + S0 + 6 = ' sceecrsecisaversnmmescsoasonsninng

(b) 7000 + 90 + 8 = e eenereesranresannrereas

(c) 4000 + 200 + 20 R APl SRE S et Al v

(d) 6000 + 5 = i Bl e s
5. Fill in the blanks:

(@) The predecessor of 2000 0S ..ccveeveeereeeeeseeecereersnseenes .

(b) The successor 0f 32700 vuveummeeeeeeeeeeeeeeeesresaeas )

(c) The place value of 8 iN 1278 iS wovuvveeieeeeeeiereeeeeessreasnesens :

(d) The place value of 7in 71255 eovveeevereeieeeeeeeeeeeeeeresannns A

(e) The place value of 0 10 2058 1S wevveoeeeeeeeeeeeeeeeeeeeeeeee, .

6. Form the smallest and greatest 4-digit numbers using the digits 4, 0, 2 and 1
each only once.

Smallest number l ( Greatest number

7. Arrange in ascending order :

(@) 4217, 4315, 4035, 4479 oo

(b) 2893, 2983, 2398, 2978 ..o
8. Arrange in descending order :

() 1728, 7128, 8127, 2718 oo oo A s DTSy

(b) 9256, 9526, 9652, 9729

R b e T L

9. Use correct sign > , < or = :

(a) 1002 1020 (b) 3540 ]:j

(¢) 8357 8357 d) 6825

Scanned with CamScanner



Numbers Bﬂor\.d 9999

5-Digit Numbers._
We know
9999 = 9 Thousands +
What number comes after 99997
Let us add 1109999,

9999 + 1 = 10000

that the greatest 4- digit number is 9999,
9 Hundreds -+ 9 Tens + 9 Ones

TTh] ™ | H

10000 is the smallest
5-digit number.

1 0 0

o

It is read as ‘ten thousand'.
T Th denotes the ten thousands place.
On the abacus, it is represented as

shown. | @ L]
TTh ’T'h H T O
l;"‘ wypens " . .

!(F%I Remember 99999 i the greatest 5- dlgll Pimhar
6-Digit Numbers
What number comes after 999997 100000 is the smallest

99999 4 1 = 100000 6-d|9|1‘ number.
100000 is a 6-digit number.
Itis read as ‘one lakh',
L {TTh| Th | H T

()

1 o | o 0

r—

I denotes the lakhs place.

On the abacus, 100000 is represented
as shown,

,\\\\\

I||| ”l I

Artadis ABEAAA S MY T 1:-ua.-uu-»qu--nn'uu-vp-m]
FEVEES £ A PY CHE AT 1 SATTAY b et e Y S S

( P e PEPRRTY T, XL Fa PR T
'f R(‘menLberm;mm 0001)0‘9‘ s lhn momoul h ulult numbm

MATHEMATICS-4 | ‘ 7 B
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Reading and Wr'Lti.ngLarge Numbers

While reading and writing large numbers, we divide them into groups called periods-

Indian Place Value System —
In India, we mostly followythe Indian place value system, also called the Hindu-Arabj.

system of numeration.
Indian place value chart

__Periods |  Lakhs Thousands i Ones ”* _____
Places ' |Ten Lakhs| Lakhs Thoﬁesl;nds Thousands|Hundreds| Tens | Ones v.
Short form TL L T Th Th H T 0
1 1
10 1 0
100 1 0 0
1000 7 ' 1 0 0 0
10000 1 0 0 0 0
100000 1 0 0 0 0 0
1000000 1 0 0 0 0 0 0

The seven places are grouped into three periods :

1. Ones period — | H T (ONS
2. Thousands period — | T Th ?h
3. Lakhs period — | TL : L
While writing a number, we separate the periods by acomma (,).
Examples :
YMrfrm|m[{u[T]o]2 Lo ITThffThl el e

21315146 [3]als 2T

3,45,290 }

International Place Value System
Thgﬁlnternational number system is used in g larg
L8 mamHEMATICS 4

o

e number of countries in the world.

B e U
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International Place Value Chart

| Periods | Millions 1Thbus’vzi'r>1d‘§;**_"_,.f 6nes_
paces [ o Ttions ] T Tuamniea] e | ones
Short form| HM ™ M HTh | TTh Th H T ‘ ”O
10000 1 0 0 0 0
100000 | 0 0 0 0 0
1000000 | v o] ol o] of of o
Here, the three periods are
1. Ones period —| H T 0)
2. Thousands period — 5H Th| TTh 'i'h
3. Millionsperiod —[HMITMI M
While writing a number in International system also, we separate the periods by a
comma (,).
Examples :

LiMmpmrtm[th[a][t[o] 2 [MEumTm ™| H|T]O
117 |3]| 4 3|1 4| 5] 6

173,456 134567

O]}
()]
—_

\] b

Compa.ri.son. of Indian and International Sgstem

- SI;‘,: :::1 Ten Lakhs| Lakhs Tho—{lesgnds Thousands Hundreds Tens | Ones
1000 1 0 0 0
10000 1 0 0 0 0
100000 1 0 0 0 0 0
1000000 1 0 0 0 ::0 0 0
lnu;;:;:;znal Millions ﬂﬁggggﬁgs ﬂ10£€2;nds Thousands|Hundreds| Tens | Ones
From the above table, we observe that

1. 1lakh = 1 hundred thousand 2. 10lakh = 1 million

o e i g i e M A R d

7 MATHEMATICHA%.TQJJ,..,,

L

— R ——— el S
e T e e R T e e e e Bt e A e e . - S e e ——
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Number Names

The number name of a number is derived by placing its digits in the place value charrt,
Indian place value chart

Number | L | TTh{ Th | H.| T 0 'NumberName i
11,156 | 1 1 5 6 Eleven thousand one |
hundred fifty-six
57,299 5 7 2 9 9 Fifty-seven thousand two
hundred ninety-nine
1,14,281 1 1 4 2 8 1 One lakh fourteen
thousand two hundred
eighty-one
7,89,734 7 8 9 7 3 4 Seven lakh eightv-nine
thousand seven hundred
thirty-four
International place value chart
Number M | HTh|TTh| Th | H O | NumberName
304,395 3 0 4 3 9 5 | Three hundred four
thousand three
hundred ninety-tive
168,457 1 6 3 -4 5 7 | One hundred sixty-
eight thousand four
hundred fitty-seven
199,428 1 9 9 4 2 8 | One hundred
ninety-nine
thousand tour
hundred twenty-
cight
L

8-8-3.

0| MATHEMATICS4

L i

1. The period is not written in plural while writing the number.
Remember - P not written in plural while writing the

2. Wa dao not write ‘and’ In the number name.

1%1~+4ﬂ1*11+ﬁ1~1«4«41«1~wﬂiwqunnwf11¢fc#cqﬁw«%*v*041¢*~~¢1*1@4¢4
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-
e

T

]

Scanned with CamScanner



S— e
R | o e

- Use Cordova Smart Class Software on the smart board In class to do Exercise

1 .Arrangc the following numbers in Indian place value chart. Rewrite them m‘
blank spaces with commas at the right places.

(@) 19285 (b) 247158 (c) 725175 (d) 928750

2. Arrange the following numbers in International place value chart, Rewrlte them
in blank spaces with commas at the right places.

(a) 48517 (b) 932429 (c) 172359 (d) 327458
3. Write the number names (in Indian system) :

(a) 53,125 (b) 1,87,819 (c) 9,27,471
4. Write the number names (in International system) :
(a) 412,351 (b) 167,897 (c) 993,457
5. Write the number putting commas at the right places :
(a) Eight lakh ninety-nine thousand four hundred twelve
(b) Seven lakh twenty-five thousand nine hundred thirty-one
(c) Two hundred thirty-five thousand four hundred sixty-nine
6. Write the smallest and greatest 6-digit numbers both in figures and in words in
(a) Indian number system (b) International number system

Face Value and Place Value

Face Value of a Digit
The face value of a digit is the value of the di

git itself irrespective of its place in the

number.

Example:  Face value of 2 = 2, Face value of 3 = 3,
Face value of 4 = 4, Face value of 5 = 5,
Face value of 6 = 6, Face value of 7 =7

Place Value of a Digit
The place value of a digit depends on its position in the number,
Place value of a digit = Face value of the digit X Value of the place in the number

Example :  Find the place value of each of the digits in the number 3,27 ,456.

3.27,456 = 3 lakhs 2 ten thousands 7 thousands 4 hundreds 5 tens 6 ones
Placevalueof 6 =6 X 1 =6 = 6 ones LITThiTh| H | T | O
Place value of 5 =5 X 10= 50 = 5 tens 3 2 7 4 5 6

MATHEMATICS4 | 44~
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Place value of 4 = 4 X 100 = 400 = 4 hundreds

Place value of 7 = 7 X 1000 = 7,000 = 7 thousands

Place value of 2 =2 x 10000 = 20,000 = 20 thousands
Place value of 3 = 3 x 100000 = 3,00,000 = 3 lakhs

Expanded Notation of a Number

A number written as the sum of the place values of its digits is called the expanded fory,
of the number.

For example : 8,227,459 = 8 X 1,00,000 + 2 X 10,000 + 7 X 1000 +4 X 100 +5 X 10 49

= 8,00,000 + 20,000 + 7,000 + 400 + 50 + 9
Example : Write the expanded form of 9,65,307.

Solution : LItTthilmhl H] T ] O
916|153 ]0]7

9,65,307= 9 X 1,00,000 + 6 X 10,000 + 5 X 1000 + 3 X 100 + 7 x |
%900000+60000+5000+300+7

-\

—
-— -
i

{ % Brercise®) £

Twe
‘_—_.-_.d _,‘.-._,...._—-—"

 Use Cordova Smart Class Software on the smart board Inclass to do Exercise. =

. Fmd the face value and place value of the coloured digit in the given numbcrs :
(@) 13,791 (b) 24,352 (c) 1,47,173 (d) 3,56,735
(e) 8,23,179 (f) 51,757 (g) 67,236 (h) 9,.87.617
2.

Find the difference between the place value and face value of 6 in 526521,
3. Find the sum of the place values of two 5s in 235257,
4. Write the expanded form of the following numbers
(a) 25,308 (b) 75,173 (c) 1,37,478
(e) 87,928 (f) 90,494
5. Write the short form of the following numbers :
(a) 1,00,000 + 30,000 + 2,000 + 100 + 70 + 6
(b) 5,00,000 + 60,000 + 5,000 + 400 - 80 + 7
(c) 9,00,000 + 90,000 + 9,000 - 900 - 9() - 9
(d) 70,000 + 5,000 + 6O
(e) 3,00,000 + 6,000 4 70 + 7
(f) 4,00,000 + 400 + 40 -+ 4
[12] marnemancss

(d) 3,47,785
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Successor and Predecessor of a Number

Successor of a number
The successor of a numberis I m

get its SUCCesSOr.
Successor of 13235 is 13236. 13235 + 1

Successor of 99999 is 100000. 99999 + 1

predecessor of a number
The predecessor of a number is 1

number to get its predecessor.
Examples : Predecessor of 34569 is 34568. 34569 - 1

Predecessor of 160750 is 160749. 160750 — 1

ore than the number. So, we add 1 to the number to

13236
100000

I

Examples

i

less than the number. So, we subtract 1 from the

34568
160749

Comparison of Numbers

We have already learnt the comparison of numbers up to four digits. The rules of
comparison of greater numbers are the same.

1. Ifthe number of digits are different, then the number with more digits is greater.

Example : (]2345 > 2345

2 If the number of digits are same, then we start with comparison of the digits
from the extreme left. :

+ We compare the digits until we find two digits that are different.

& Compare them to decide which is smaller or greater number.

Example: | 23(4)56 > 23(1)56

Let us rake some examples to understand.
Example 1 : Which is greater : 73456 or 743567
Solution - Both the numbers are 5-digit numbers.

Comparing the numbers, we see that the
digits at the ten thousands place are same.

TTh{ Th| H | T | O

~J
L
N
wu
o}

~J
=
LJ
v
o

Comparing the digits at the thousands place,
3 thousands < 4 thousands.
Thus, 74,356 is greater than 73,456,

MATHEMATICS—4 | 13§
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Example 2 : Which is greater : 6,45,385 or 6,45,1077?

Solution :  Both the numbers are 6-digit numbers.

Comparing the numbers, we see that
the digits at lakhs, ten thousands and
thousands places are same.

We compare the digits at the hundreds place.

3 hundreds > 1 hundred
Thus, 6,45,385 is greater than 6,45,107.

Ascending and Descending Order

Ascending order means arranging numbers from smallest to greatest.

Descending order means arranging numbers from greatest to smallest.

Example 1 : Arrange in descending order :

Solution: 42,728 48,715 49,234 47,174
Since the digits at the ten thousands place [ | [TThl Th "B T or
are same in all the numbers, we compare 4 | 2 7 ' 2 | 8
the digits at the thousands place. 2 8| 7 ] 5
Thus, the numbers in descending order are 4 9] 234

49,234 > 48,715 > 47,174 > 42,728 4 Z :] 7 2

Example 2 : Arrange in ascending order :

Solution: 5,23 ,456 6,27,175 4,23,456 5,17,236
Comparing the digits at the extreme left LITThl Thl HT TI] O
place, we see that 4,23,456 is the smallest 5 ) 3 4 5 | 6 |
and 6,27,175 is the greatest number. 6 7 7 1 7 1 5
Comparing 5,23,456 and 5,17,236, we| 4 2 3 4 5 6
see that 5,23,456 > 5,17,236. 5 1 7 2 3 6

Thus, the numbers in ascending order are

4,23,456 < 5,17,236 < 5,23,456 < 6,27,175
4

% 14| MATHEMATICS 4
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-~ "{jse Cordova Smart Class Software on the smart board in class to do Exercise.

1. Write the successor of :

(a) 13,598 (b) 25,009 (c) 39,900 (d) 78,349
(e) 1,23,478 (h 3,47,199 -~

2. Write the predecessor of :
(a) 39,498 (b) 57,000 (c) 92,450 (d) 1,73,970
(e) 8,48,300 (f) 1,00,000 :

3. Write > , < or = in the boxes :

@ 10337 () 10370 w) 72478 () 72378

() 9,999 D 9,999 () 122,115 C) 1,23,115

(e) 5,28,179 D 428,179 (f) 4,38,790 C) 4,48,790
4. Circle the greatest number :

(a) 1,23.410 1,223,425 1,223,517 1,23,620

(b) 197,630 198,715 199,215 195,768

5. Arrange in ascending order :

(a) 20,280 20,820 20,028 20,082
(b) 89,728 87,128 84,571 89,185
(c) 3,17,230 417,230  5,28,470 4,28,217
6. Arrange in descending order :
(a) 92,173 93,234 90,148 92,345
(b) 72,059 72,509 72,590 72,950
(c) 8,23,333 843,126  8,17,338 8,17,238
ePuzzlee—

| Using the digits 1 to 9 (each exactly once), form three 3-digit num.bers so that
f the second number is 2 times the first and the third number is 3 times the ﬁrst.‘

— ———— —— — — ——
——— A —— T — T — ———, —
N — —————— - — —T— — ——) W— — {— o ——— S — —

. \\:"-.":"J’
MATHEMATICS—4 15 |
= = B ot D
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Forming Numbers
To write the smallest number using the given digits cach only once.

(1) When none of the digits is zero, we arrange the digits in ascending order and
form the number.

Examples :
¢ The smallest 5-digit number using the digits 1. 3, 2, 5 and 9 is 12359,
¢ The smallest 6-digit number using the digits 7, 8, 4, 3, 5 and 2 is 234578,
(b) When one of the digits is zero, we arrange the digits in ascending order ang
put zero at second place from extreme left while forming the number,
Example : The smallest 6-digit number using the digits 1,7, 5,0, 4 and 8 is
104578.
To write the greatest number using the given digits cach only once, we simply
arrange the digits in descending order and form the number.
Examples :
¢ The greatest 5-digit number using the digits 3,5, 1,7 and 9 is 97531.
¢ The greatest 6-digit number using the digits 8,0, 5, 1, 3 and 9 is 985310,
To write the smallest or greatest number using the given digits, with repetition
of digits, we first form the smallest or greatest number using the given digits
cach only once. Then we place the digit to be repeated.
Examples .
¢ The smallest 5-digit number using the digits 1, 4, 3, 7 repeating 4 twice
is 13447.
¢ The greatest 6-digit number using the digits 7, 0, 2, 8, 9 repeating 7 twice
is 987720.

Write the smallest and greatest 5-digit numbers using the given digits each only
once :

(@) 4,2,9,7.3 (b) 1.3,7,0,9 (c) 5.9.3,1,7

Write the smallest and greatest 5-digit numbers using the given digits, repeating
4 twice :

(@) 1,4,2,5 (b) 3.4,0,8 (€) 9.3,4,5
'MATHEMATICS—4 2 fem e e
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‘ 3. Form the smallest 6-digit number using the digits 1, 3, 0, 5, 7 and 6 each only once.
i 4' Form the greatest 6-digit number using the digits 7, 8,9, 3 and 5, repeating 8 twice.
5. Form the smallest 5-digit number using the digits 1, 3, 5 and 0, repeating 1 twice.

|
|

Rounding Numbers

In our daily life, we come across situations where we do not know the exact answer to
some quantities. We give an answer which has been rounded off to the nearest tens,
hundreds or thousands as the case may be.

Number of people who attended the music
programme was about 1200.

< | 1 1 | ]
- I I 1 1] 1

50 51 52 53 54 55 56 57 58 59 60

1. 51isnearerto 50thanto 60.So, 51isrounded offto 50.
2. 58isnearerto 60thanto 50.So, 58isrounded offto 60.
3. 55ishalfway between 50 and 60. So, 55isrounded offto 60.

| ] | l ] |
I I |

T >

Look at the digit at the ones place :

1. If the digit at the ones place is less than 5, replace the ones digit by 0 and keep the
other digits same.

2. If the digit at the ones place is equal to or more than 5, replace the ones digit by 0
and increase the tens digit by 1.

‘ Examples : Round off to the nearest tens.

| 1. 84 — The ones digit 4 < 5, so, 84 is rounded off to 80.

| 2. 956 — The ones digit 6 > 5, so, 956 is rounded off to 960.

1 3. 1289 — The ones digit 9 > 5, so, 1289 is rounded off to 1290.

s | R R i R
t

E

|

- A TT—— S "
T
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Rounding to the Nearest Hundreds

Consider the numbers 728, 750 and 769 all lying between 700 and 800.
1. 728 is nearer to 700 than to 800. So, 728 is rounded off to 700.
2. 750 lies halfway between 700 and 800. So, 750 is rounded off to 800.
3. 769 is nearer to 800 than to 700. So, 769 is rounded off to 800.
~Look at the digit at the tens place: '

1 L T T —

1. " If the digit at the tens place is less than 5, replace the tens and ones digits by 0 and
keep the other digits same. '
2. Ifthedigitatthe tens place is equal to or more than 5, replace the tens and ones digits
byOandincreasethe hundreds digitby 1.

Examples : Round off to the nearest hundreds.
1. 639

2. 2382

— The tens digit 3 < 5, so, 639 is rounded off to 600,
—  The tens digit 8 > 5, so, 2382 is rounded off to 2400.
3. 34656 —  The tens digit is 5, so, 34656 is rounded off to 34700.
Rounding to the Nearest Thousands

Consider the numbers 9387, 9687 and 9587 all lying between 9000 and 10000.
1. 9387 is nearer to 9000 than to 10000.

S0, 9387 is rounded off to 9000.

9687 is nearer to 10000 than to 9000,

50, 9687 is rounded off to 10000.

9587 is nearer to 10000 than to 9000.

S0, 9587 is rounded off to 10000.

Look at the digit at the hundreds place :

1. If the digit at the hundreds

place is less than 5, replace the hundreds, tens and ones
digits by 0 and keep the other digits same.

2. If the digit at the hundreds

Place is equal to or more than 5, replace the hundreds,
tens and ones digits by 0 and increase the thousands digit by 1.

Examples : Round off to the nearest thousands.

3787 — The hundreds digit 7 > 5, s0, 3787 is rounded off to 4000.

10349 — The hundreds digit 3 < 5, s0, 10349 is rounded off to 10000.
3. 10597 — The hundreds digit is 5, so, 10597 is rounded off to 11000.
8| MATHEMATICS4 ]
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Use Cordova Smart Class Softwar
1. Round off to the nearest tens :

(a) 57 (b) 93 (c) 291 (d) 375

() 774 (g) 819 (h) 983 (i) 1733
2. Round off to the nearest hundreds :

(a) 446 (b) 719  (c) 983 (d) 1185

() 6253 (g) 8899 (h) 15728 (i) 18997
3. Round off to the nearest thousands :

(a) 3278 (b) 6938 (c) 7171 (d) 9569

(f) 12617 (g) 45817  (h) 73417 (i) 99978

Roman Numerals

Roman numerals were developed by the Romans.

(e) 588 |
G) 35876 3.

) 1736
(j) 24364

(e) 10734
(j) 32871

However, we still use them in our daily life. We often find these numerals on the faces

of certain clocks, books.

The Romans used only seven letters of English alphabet to form numbers.

Hindu-Arabic
Numeral 1 s 10 20 100 500 1000
Roman )
| Vv X L C D M
Numeral

Various combinations of these seven symbols are used (o create numbers.,

Let us learn to form Roman numerals of numbers up to 100,
We follow some basic rules to write Roman numerals.

wmiwarcs4 197
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1. The symbols | and X can be used up to three times in a number and the Valyeg
4
are added.

H=1+41=2, M=l =3
XX = 10 4+ 10 = 20, XXX =10 + 10+ 10 =30

. b botelicd Bl Bl s o Bt elhdid.
8.0-0-8:8:9-9-88 94 -9 -4-9 §-9-b { E AL o TS Y'Yy
P-4 00080004900 H QWA R QPR VPRI N 8 X LSy G

/? " The symbols V, L and D are never repeated.
Remember ;: So, 10 Is written as X and not VV. [ishg
Similarly, 100 Is written as C and not LL. i

R a s A A e e e e e e s e A A e st an ety

-

2. A Roman numeral of smaller value written on the right of a Roman numeral of
greater value is added to the numeral of greater value.

VII. =54+14+1=7

XX =104+ 10+1+1+1 =23

LXI =50+10+4+1 = 61

3. A Roman numeral of smaller value written on the left of a Roman numeral of
greater value is subtracted from the numeral of greater value.

IX=10-1=09, XL=50-10 =40
XC =100~ 10 = 90, CD = 500 - 100 = 400

V, L and D are never subtracted. X can be subtracted from L and C only once.

4. When a Roman numeral of smaller value is placed between two Roman numerals
of greater values, its value is always subtracted from the value of the symbol on
its right.

XV =10 + (5-1)=10 + 4 =14
XXIX = 10+ 10+ (10- 1)= 10+ 104+ 9= 10 + 19 =29

A Roman numeral of smaller value can be written on the left of

j aRoma ¢
Remember nnumeral of greator value only once.
So, IV, lliX and XXL are Incorroct numerals.
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pxamples : _ e : ‘ —— . I
— Hindu-Arabic Numeral | - Roman Numeral =
3 B3 V + I vilII
15 10xhbs i XV e XV
21 20 + 1 \ XX +1 XXI
TG PR
37 30 +5 + 2 XXX + V + I XXXVII
40 - e
53 50 + 3 | L+ Lill
63 S0E A0 L+ X + Il LXIII
79 50420+ (10—1) | L+XX+(X-I) | LXXIX
89 504+30+ (10-1) | L+ XXX+ (X-1)| LXXXIX
9 | 100-10 1 c-x XC
99 | (100-10)+9 C-X) FiXt. | RCiX

" Use Cordova Smart Class Software on the smart board in class to do Exercise.
1. Write the Roman numeral for :

(a) 52 (b) 65 (c) 79 (d) 84 (e) 91 (f) 94
2. Write the Hindu-Arabic numeral for :
(a) XLI (b) LXXIV () LXXVII  (d) LXXX (e) XCvI (f) XCV

3. Write >, < or =:

(a) 34 D XXXIV (b) LXIII D 73
(c) XCVIII C) XCIX (d) LX C) XL

4. Write the answer in Roman numerals :

(a) XXII + V (b) XXXIX -+ VII
(c) XC + XL (d) V + XIl
HOTS (ueston

Form the greatest and smallest 5-digit numbers using the digits 4, 2, 0 and 8,
repeating 2 twice. Also, find their difference.

' G TE
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Use Cordova Smart Class Software on the smart boarcj m plass to Ieam about addmon

;Fhue students of various schools have gathered for Inter-school sports COmpEtltlon,‘ o
There are 1251 boys and 1089 girls.

Total number ofstudents is 1251 + 1089 = 2340

@ @
1 «—— addend

+ 1 0 8 9 «——— addend L

2 3 4 0 «—— sum '\

The numbers to be added are called the addends and the answer in addition is called
the sum.

CDO you remember . ... . . )

Arrange in vertical columns and add :

1. 325 + 172 2. 1753 + 417
3. 6133 + 2192 4. 2614 + 7346
5. 2347 + 3215 + 1178 6. 1113 + 2244 + 3366

Addition of S—digi.t and 6—d.'Lgi.t Numbers

In previous classes, we have learnt to add 3- -digit and 4-digit numbers with or without
regrouping. In the same way, we can add 5- -digit and 6-digit numbers.

Step 1: Add the ones. Step 2: Add the tens.
Step 3: Add the hundreds. Step 4: Add the thousands.
Step 5: Add the ten thousands, Step 6 : Add the lakhs.
(For 5-digit numbers) (For 6-digit numbers)
|22 warvemaicss

3 N '_“3):&;1.,
B i
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Addition of 5-digit Numbers.

1.

2.

" Use Cordova Smart Class Software on the smart board in class to do Exercise.
1. Find the sum of :

Add 43,165 and 25,412.
TTh [Th|H | T [O Add ones: 5‘+ 2 = 7 ones
- Addtens: 6 + 1 = 7 tens
5 . .
A: S o Add hundreds: 1 + 4 = 5 hundreds
+ 2 5 |4 1|2 Add thousands : 3 + 5 = 8 thousands =~
6 3 | s 7 |7 Add ten thousands : 4 + 2 = 6 ten thousands -
43,165 + 25,412 = 68,577
Add 38,653 and 12,845. = 7
Add ones: 3 + 5 = 8 ones TTh |Th|({H | T |O
Addtens: 5+ 4 = 9 tens
Add hundreds : 6 + 8 = 14 hundreds C:? C;) 6 = | 3
= 1 thousand + 4 hundreds
Carry over 1 to the thousands place. + 1 2 |84 |5
Add thousands: 1 + 8 + 2 = 11 thousands 5 114 |9 |8
= 10 thousands + 1 thousand —— _
Carry over 1 to the ten thousands place. 38,653 + 12,845 = 51,498

Add ten thousands : 1 + 3 + 1 = 5 ten thousands

(a) 23,312 and 35,233 (b) 40,718 and 57,161  (c) 72,354 and 13,215
(d) 52,735 and 35,025 (e) 15,427 and 67,553 (f) 49,999 and 26,745

2. Add:
E; TTh Th H T O'E. TTh Th H T O-n'» TTh Th H T 0‘
3 30 2 1) | 4 1.8 531 b 2 4 5 1 31
+2 356 8/ [+2 20 1 4 bys 2 3 4 0f

e R e e e e e e T T 0 e Ty

———r ey,
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1 & ;
L 0000 | oooo
t 3 8 4 2 74 8 2 7 6 8;{
’+ 4 2 8 1 2}.’, M+ 1 6 7 2 o
] = 4 | ;
ij"""‘**‘fmwwf——m—:w;»,,w_ﬁ-g_t‘j  E———— = ;

Addition of 6-d.'Lg'Lt Numbers

1. Add6,21,021 and 3,64,835.

L ITTh{Th| H| T |0 |Addones:1 + 5 = 6 ones
6 | 2 110 217 |Addtens:2+3 =5 tens
+ 3 6 48135 Add hundreds : 0 + 8 = 8 hundreds
- = Add thousands:1 + 4 =5 thousands
9 8 5 8 5 6 ]
i -| Add ten thousands: 2 + 6 = 8 ten thousands
6,21,021 + 3,64,835 = 9,85,856 | Add lakhs : 6 + 3 = 9 Jakhs

2. Add8,19,246 and 1,65,083.

L ITTh{Th{H | T]|O
Add ones: 6 + 3 = 9 gnes @ @
Addtens:4 + 8 = 12tens 2

8 1 9 416
= 1 hundred + 2t = —
e e + 1 6 | 5/0]|8]3
Carry over 1 to the hundreds place.
Add hundreds : 1 + 2 + 0= 3 hundreds 9 8 4 3 2 9

Add thousands:9 + 5 = 14 thousands

8, 19 246 +1,65,083 = 984379

= 1 ten thousand + 4 thousands
Carry over 1 to the ten thousands place.
Add ten thousands: 1 + 1 + 6 = 8 ten thousands
Add lakhs : 8 + 1 = 9 |akhs

24 MATHEMATICS4
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o " Use Cordova Smart Class. Softwarh_ n th
Add
= T T T S T T i ﬂﬂm S T S .' : uawwﬂ-u'-m«'?j
IE 4 L TT]] Th HTO ‘ i L TThTh HTO 3
{ E
6 5 4 3 2 1 i 1 3 2 8 5 17 :%1
" , ¢
L+123456~‘i 8 +2 1 0 321 3
1 ; i -:
| 't | =~
B BN | (RN
. L TThTh H T O 1 . L TThTh HTO =
. 00000 : :
4 2 3 4 567 ¢ l 5 3 17 86 &
. +4 3 2765 | y +1 7 3 4338 |
,' i 3 J,, T B B & ; “}
2. Find the sum of : |
" (a) 1,54,023 and 4,21,746 (b) 2,40,125 and 3,47,521
(c) 6,52,813 and 2,07,045 (d) 5,12,345 and 2,34,651
(e) 3,48,978 and 3,45,678 (f) 2,45,386 and 4,25,297
(g) 5,27,123 and 3,17,298 (h) 4,97,513 and 3,48,789

Propert'Les of Addition

1. Whenwe add O to a number, the sum is the number itself,
Examples : 7254 + 0 = 7254
47289 + 0 = 47289

2. When 1 is added to a number, the sum is the successor of the number.
Examples : 3270 + 1 = 3271
81399 + 1 = 81400

W EET s Sl MATHEMAncs-st‘]j"”_'?’
e, S I LSRN R SRR & bk i kY - = L . - oo L LEASC ek Lo ﬁ-‘ R e
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3.

4.

A change in the order of the addends does not change the sum of the tw

numbers. This property is called the order property of addition. 0
Example : 42310 + 23410 = 23410 + 42310

A change in the grouping of the addends does not change the sum of the three
numbers. This property is called the grouping property of addition.

Example : (12345 + 54321) + 11111 = 12345 + (54321 + 11111)

Fill in the boxes :

—

NS W

W

i iop

Alimridiompaiils

4634 + [____] — 4634 221346 +1=(_ )
53476 + 0 =(_____)

4.34567 + C:j= 34568
14357 + 19235 = 19235 + | ]

82547 + (35458 + 10000) = (82547 +| | ) + 10000
(112000 + 135400) + 234567 = 112000 + (135400 +(:) )

>
—" ’ N ey

Use Cordova Smart Class Software on the smart board in claés to do Exél_'c‘j_sg.:_ g ; _ J

. The cost of a motorcycle is 42,850 and the cost of a scooter is ¥28,350. What‘ is

the total cost of both the vehicles?

A factory manufactured 72,584 locks in the year 2016 and 37,846 locks in the
year 2017. How many locks did the factory manufacture in the two years?

During a census, it was found that there were 2,34,786 males and 1,93,877
females in a town. Find the total population of the town.

A number exceeds 8,76,543 by 12,345. Find the number.

Vo,
..
'Y oL
I A |

1 Fill in the boxes using correct digits : u e
EVE e 3 405 9
‘ 4 I 0 6 | !
‘ { 2 4
| T 4 C
R B +1 3 2
| (
| 61 18 I3 7 2 5 8 4
| _
MATHEMATICS4
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Subtraction

Use Cordova Smart Class Software on the smart board in class to learn about subtrac'uon

The final match of a hockey tournrament is being played between India and Austraha in
Delhi. Many people have come to cheer up the teams. There are 9670 people in all, out
ofwh:ch 7489 are males How many females have come to see the match7

9@..

B «—— minuend

- 7 4 8 9 «—— subtrahend

2 1 8 1 «—— difference

Hence, 2181 females have come to see the match. —
The number from which we subtract the other number is called the minuend. The
number to be subtracted is called the subtrahend. The answer in subtraction is called

the difference.

@o you remember . . .. )
1. Write the numbers in vertical columns and subtract:

(a) 4254-1832 (b) 6456-3148 (c) 9778 -5489
2. The sum of two numbers is 5885. If one of them is 3176, find the other number.

3. Ravi buys a watch and a video game for I6885. The cost of the watch is
T2875. What is the cost of the video game?

Subtraction of 5-digit and 6-digit Numbers

The subtraction of 5-digit and 6-digit numbers is same as subtraction of 4-digit numbers.

Step 1: Subtract the ones. Step 2 : Subtract the tens.
Step 3 : Subtract the hundreds. Step 4 : Subtract the thousands.
Step 5: Subtract the ten thousands, Step 6 : Subtract the lakhs.

(For 5-digit numbers) (For 6-digit numbers)

| MATHEMATICS4' 27
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Subtraction of 5-digit Numbers

—
Example 1 : Subtract 12345 from 55555. L o
Solution :
Subtract ones:5-5 = 0 ones TTh |Th [H | T ﬁ
Subtract tens: 5—4 = 1 ten 5 545 5[5
Subtract hundreds : 5 - 3 = 2 hundreds —1 E TT
Subtract thousands : 5 — 2 = 3 thousands y 3 |2 Sty
Subtract ten thousands : 5 - 1 = 4 ten thousands 1 L]0
55555 — 12345 =432@

Example 2: Subtract 34517 from 65485.
Solution :
Step 1 : Subtract the ones :
Here, 5 ones < 7 ones, so we regroup.

8 tens 5 ones = 7 tens 15 ones
15 ones — 7 ones = 8 ones TTh |Th

T
Write 8 in the ones place. @ @
8
1

Step 2 : Subtract the tens : 6 5| a4
5
9

o

@«:— After
58

7

8

borrowing
7 tens — 1 ten = 6 tens
Write 6 in the tens place. -3 4
Step 3 : Subtract the hundreds : 3 6
Here, 4 hundreds < 5 hundreds, —
50 we regroup. 65485-34517 = 30968
5 thousands 4 hundreds = 4 thousands 14 hundreds
14 hundreds - 5 hundreds = 9 hundreds
Write 9 in the hundreds place.
Step 4 : Subtract the thousands :
4 thousands — 4 thousands = 0 thousands
Write 0 in the thousands place.
Step 5 : Subtract the ten thousands :
6 ten thousands — 3 ten thousands = 3 ten thousands
Write 3 in the ten thousands place.

0

(28| MATHEMATICS-4 . | . g
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Sub( r nct e 3
s ity e R i - : == T g ‘1: Ty - T \
l‘Th Th H T O q TTh Th H T O nf:i TTh Th H T
k. 2 -8 .4 5 6] 5 7 9 1 3| 8B 7 7 7 i
4 5 -
-1 4 2 3 21 -2 4 6 0 1 -4 2 4
e ———— - i . i
A R T N R S ) n : : SR g o q i:" o sR e *'mm@@
. TTh Th H T O - TTh Th H T O : TTh Th H T O-’;”;
B 2 ; '51.
. O0000] | OOOOO| | OOOOO:
b 5 3 2 1 5 6 0 0 0 0 ‘ 7 05 4 6 74
i ¢ » 4
-3 9 0 0 6 f -4 5 4 5 4. !_;— 4 ;i35 9 8&
‘l ) ‘E;:
2. Subtract:
(a) 51834-20512 (b) 89462-27230 (c) 33333-12321
(d) 74156-32034 () 74156-25364 (f) 66000-9999
(g) 93115-87767 (h) 78378-36089 (i) 24008 -21778
(i) 47234-13532 (k) 62345-17828 (1) 99999-23458

3. Subtract the greatest 5-digit number from the smallest 6-digit number.

Subtraction of 6—dLth Numbers

1. Subtract 2,53,542 from 7,96,775.

2. bubtmu I 37 469 lmm4 15,824

L [TTh|{Th|{H | T|O

74 9 | 6|77 |5

Z 513|542

D 4 3 2 3 3
7,96,775~-2,53,542 = 5,43,233

Scanned with CamScanner
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3. Subtract 3,56,255 from 6,00,000

6 lakhs 5 lakhs +10 ten Thousqnds
IO ten thousands =9 ten thousands +0 thoys
10 thousands = 9 thousands + 10 hundre d
10 hundreds = 9 hundreds +10 fens: -

10 Tens 9. Tens +10 ones

L '.i‘Th Th| H 7T 02
® 0|00/ -
rarArararars

3 > | 6 27 5|5

2 4 3 7 4 5
6,00,000 - 3,56,255 = 2,43.745

Use Cordova Smart Class Soﬁware on the smart board in class to do Exer(:lse

. Subtract:
E 285469 O 7196545¢ 864318
—]35344; ~-408531. -443207
B 0000001 B ocooos | I 000000 |
3584731 - 532640 - 643672
-101986-‘» 275324_ -319517
J
2. Find the difference between -
(@) 4,83,695 and 1,51,343 (b) 6.31,296 and 4,61,053
(c) 7,14,345 and 5.,37s705 (d) 6.67.800 and 3,45.925
3. Fill in the boxes with correct digits ;
B 7 6 l 5 m-“' 8E67:]4 ~f
~ 2 1 0 8 - 5 4.2 “
3 18 3[ ] :] 4 3 3
- | 30 MATHEMATICS-4 TREk
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Checking the Answer for Addition and Subtraction

e

Ons

Example 1 [T = -
@ @ 2
9 6 3 2
+ 3 7 1 2
1 3 3 4 4.

3

OB

¥ 3 ¥ 4 4

- 3 7 1 2
9 6

1" addend
2™ addend
sum

| sum
| 2™ addend
f 1" addend

ubtracting any of the addends from the sum, we get the other addend.

by & % 4 4 sum
- 9 6 3 27 1*addend
3 7 1 2+ 2"addend

On adding the difference and the subtrahend, we get the minuend.

Example :

| difference

8
4 | subtrahend
2 - | minuend

T 0000 0000
- B 6 4 3 Z |minuend l 3 8 4 7
— L FEi9. 5 4subtrahenc><] 7 9 §
3 8 4 7 8 difference L 5 6 4 3
v:.’”;" =
<\ [EErelsed -

B2

| Sl

Solve the following and check your answer :

" Use Cordova Smart Class Software on the smart board in class to do Exercise.

) — R [ s et o
MATHEMATICSA;§31 Fiy
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Properttes of Subtraction

1. When 0 is subtracted from a number, the difference is the number itself,

Examples : 23,459-0 = 23,459
1,75,328-0 = 1,75, 328

2. When 1 is subtracted from a number the difference is the predecessor of the Number

Examples : 38,478 - 1 = = 38,477
4,28,175-1 = 4,28,174

3. When a number is subtracted from itself, the difference is 0.

Examples : 78,172 -78,172 =0
9,99,999 -9,99,999 =0

S Use Cordova Smart Class Software on the smart board in class to do Exercise
Fl“ in the boxes:

1. 28172-0= D 2. 72.999 _1 = D
3. 98,233 —D — 98232 4. 1,14.234 —D= 114,234
5. 47,235-47.235 = D 6. 72,998 -D=0

Addition and Subtraction Together

1. Simplify: 7,53,025 + 1,80,734 —5,17,315

Ste&)l.. A CAtep 2N iR
753025 »-/793/,3'7597
*180734| AT -517315
9337597 | 41()444;

7,53,025 + 1,80,734 - S,I /,JIS = 4.16,444

Lm‘
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2 Simplify:

2,51,764-1,30,324 + 2,15,246 - 83,569

ESTEpIL s Ea TStepZlil A [ Step3r
: E f ;
251764, ;:E’/,121440R f‘:/»z,3'66,8’)6’.:
—130324%/ 21524671 ~F - 835697
1214407 : 336686/5 B 2531173

STt My o VTS A O M _v—} & T Y Tmea——

[Exercise-6 |

ﬂ"‘*i'”i;jé‘ef_c_dr-c'lb@aisﬂméft;Cliéé_Spﬁwai’e on the smart board in class to do Exercise. ihiiis ol
. Simplify:

(a) 2,51,743 + 6,21,301 - 1,19,254 (b) 4,31,296 + 2,17,175-50,178
(c) 3.00,192 + 4,32,170 — 2,99,429 (d) 9,99,999 —2,22,222 + 3,33,333
(e) 5,29,516 — 1,02,053 + 25,970 — 18,325

From the sum of 5,45,327 and 3,25,173, subtract their difference.

~ Use Cordova SmartvC'!as's Software on the smart board in class to do Exercise.

Word Problems

_ The sum of two numbers is 57,295. If one number is 25,487, find the other number.
. The population of a city is 4,75,173. If the number of males is 2,58,745, find the

number of females in the city.
What must be added to 43,172 to get 82,054?

Mrs Khanna has £8,28,050 in her bank account. She spends ¥4,57,375 to buy a
new car. How much money is left in her bank account?
1.45.280 students appeared in an examination. If 1,28 425 students passed the
examination, how many students failed?
Raja bought a television set for ¥38,450. He gave ¥40,000 to the shopkeeper.
How much money did he get back?
A dictionary has 88,728 words. Mohan has read 37,487 words out ot these. How
many words are left to be read?

MATHEMATICS - 33
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Estimation in Addition and Subtraction,

—————

o
]
!

Estimation in addition/subtraction means to guess the sum/difference by rounding i
the numbers. The estimated sum/difference differs from the actual sum/difference.

Estimate the sum of 53 and 72 and find the actual sum also.

Example 1:
Solution :
53 rounded off to the nearest tens = 50 53
72 rounded off to the nearest tens = + 70 + 72
Estimated sum = 120 Actual sum = 125

We see that, the estimated sum differs from the actual sum by 5.
Example 2:  Estimate the difference of 95 and 67 and find the actual difference also,

Solution :
95 rounded off to the nearest tens = 100 95

67 rounded off to the nearest tens = — 70 - 67
Estimated difference = 30 Actual difference = - 28

— s

We see that, the estimated difference differs from the actual difference by 2.
Example 3: Estimate the sum and difference of 452 and 356.

Solution : 452 rounded off to the nearest tens = 450
356 rounded off to the nearest tens = 360
Estimated sum Estimated difference
450 450
+ 360 - 360
810 90

We can estimate the sum and difference of the given numbers by rounding off them to
the nearest hundreds.
452 rounded off to the nearest hundreds = 500

356 rounded off to the nearest hundreds = 400

Estimated sum Estimated difference

500 500
+ 400 -~ 400
900 100

Scanned with CamScanner



1. Estimate each of the following by rounding ofT to the nearest tens :

(a) 45 + 56

" se Cordova Smart Class Software on the smart hoard in class lo do Exercise, 77"

(b) 635 + 425

(c) 486 + 36

2. Estimate each of the following by rounding off to the nearest tens :

(a) 6718

(b) 356 - 215

(c) 687 - 38

3. Estimate the sum of 725 and 836 by rounding off to the nearest hundreds.
4

. Estimate the difference of 956 and 481 by rounding off to the nearest hundreds.

HOTS Question

Complete the cross number puzzle.

H(a) 63548 —3000
(e) 382622-50000

(g) 422084-20
(h) 815851000
(i) 900000800000

| b] <l

(b) 539280— 1000 °

b (c) 864050—4000 T

b (d) 133451000

(ﬂ 26680-2000

MATHEMATICS-4 | 35
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